



이름: _____

날짜: _____ 점수: _____

$3^{(-1)} + 5 =$

$3^{(-2)} - 3 =$

$(-1)^2 - (-2) =$

$(-1)^2 - (-4) =$

$6^2 - 10 =$

$(-4)^{(-2)} + 2 =$

$(-7)^{(-2)} + 9 =$

$5^2 + 4 =$

$5^{(-2)} + 7 =$

$(-9)^2 - (-9) =$

$2^{(-2)} - (-10) =$

$1^{(-2)} + (-6) =$

$8^2 + 2 =$

$7 + 1 =$

$3^{(-1)} + (-10) =$

$10 - 10 =$

$3^{(-2)} + 9 =$

$(-4)^{(-2)} - (-1) =$

$5^2 - 8 =$

$(-10)^{(-2)} - 7 =$



이름: _____

날짜: _____ 점수: _____

$$3^{(-1)} + 5 = \frac{16}{3} = 5\frac{1}{3}$$

$$3^{(-2)} - 3 = \left(-\frac{26}{9}\right) = \left(-2\frac{8}{9}\right)$$

$$(-1)^2 - (-2) = 3$$

$$(-1)^2 - (-4) = 5$$

$$6^2 - 10 = 26$$

$$(-4)^{(-2)} + 2 = \frac{33}{16} = 2\frac{1}{16}$$

$$(-7)^{(-2)} + 9 = \frac{442}{49} = 9\frac{1}{49}$$

$$5^2 + 4 = 29$$

$$5^{(-2)} + 7 = \frac{176}{25} = 7\frac{1}{25}$$

$$(-9)^2 - (-9) = 90$$

$$2^{(-2)} - (-10) = \frac{41}{4} = 10\frac{1}{4}$$

$$1^{(-2)} + (-6) = (-5)$$

$$8^2 + 2 = 66$$

$$7 + 1 = 8$$

$$3^{(-1)} + (-10) = \left(-\frac{29}{3}\right) = \left(-9\frac{2}{3}\right)$$

$$10 - 10 = 0$$

$$3^{(-2)} + 9 = \frac{82}{9} = 9\frac{1}{9}$$

$$(-4)^{(-2)} - (-1) = \frac{17}{16} = 1\frac{1}{16}$$

$$5^2 - 8 = 17$$

$$(-10)^{(-2)} - 7 = \left(-\frac{699}{100}\right) = \left(-6\frac{99}{100}\right)$$